RE DR

(S5 FE)

— IR RETDREINR
(1) EBENX (BN 0 FF)
RAFEEE R FEEE BARHZESIE | BFEEGEEIR EEINX
812,566 787,593 24,973 0 24,973
(2) ‘A
" = FERE (F) IRAKEEE () WAE (%)
h (A) (B) (B)./ (A)
1 HEERV 781,977,000 781,977,000 100.0
=ik 1 »HiE% 781,977,000 781,977,000 100.0
2 ERRRY 370,000 433,200 117.1
FHK 1 FHH 370,000 433,200 117.1
3 BAEMRA 172,000 172,091 100.1
1 BEEERIA 172,000 172,091 100.1
4 BAE 6,000,000 6,000,000 100.0
1 E2BAE 6,000,000 6,000,000 100.0
5 ge 16,125,000 16,125,755 100.0
1 BEe 16,125,000 16,125,755 100.0
6 FHINA 5,833,000 6,105,448 104.7
1 ‘AT 1,000 1,940 194.0
2 MEA 5,832,000 6,103,508 104.7
7 EEXHE 0 1,753,186 -
1 EEAEE 0 1,753,186 -
mAAE 810,477,000 812,566,680 100.3
(3) mH
" = FERE (H) THEE (B) BHITE (%)
(A) (B) (B).” (A)
1 BB 98,000 54,872 56.0
1 Z2E 98,000 54,872 56.0
2 WHBE 51,707,000 50,276,278 97.2
1 REEEE 51,577,000 50,203,531 97.3
2 BEBEEE 130,000 72,747 56.0
3 HBAE 757,631,000 737,221,113 97.3
1 JHpAE 757,631,000 737,221,113 97.3
4 HEXHE 41,000 41,000 100.0
1 HE 8 41,000 41,000 100.0
5 FeE 1,000,000 0 0.0
1 FlaE 1,000,000 0 0.0
RRHEE 810,477,000 787,593,263 97.2
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ME, ABRUV—FEAEDRES

(1)

(643 A3 1HIRE]

BAEE
7 BY (BEfiL : m)
X Pl FENMEIE X v ENEE
TEEEAER - BRIFEVHEIGE 1,565.16 || s 102.34
B HE 459.69 | =JE 108.55
BAENE 663.90 | ;ERIHHREAT 15.00
=) HaRFT 476.61
A4 & (1EFOEEME L 0 0 ARULEOEEY T O HIBE (B : &)
A % wn = m % wn =
AR E 2 BB IR > 1
NEREE 5 HERBIE#EM (—0) 2
SR E ' Lh— | -
SEE R T EEhE g | PERERELAEE R 1
A—bbL—5— (=)
IKFEDEE R T E8E 3 SR ETES Y AT L (—=R) 1
SREMEEEE 5 HyHa Ty gLER (—R) 1
BN T {EE 1
B X E 2
BAXIESE 1
v EE (B 0 )
f& £} B £ &
BGRRES 34,960,000
#51E (BEAf - [H)
& $8 B E &
— 0
—EEAE (BEAf : M)
& £} B £ #E
— 0




3 BEHRE2EEOIRARRTE (S5 EE)
(Ef7: [)
) B 1% BT » B &
¥ B HT =
4 BHA 6 B A 9 A A 12 A4 =t (A)
* & H 76,893,000 76,892,000 76,892,000 72,946,000 303,623,000
K OET 70,608,000 70,607,000 70,607,000 66,946,000 278,768,000
E{R AT 42,225,000 42,222,000 42,222,000 40,038,000 166,707,000
=t 189,726,000 189,721,000 189,721,000 179,930,000 749,098,000
¥ Rk BT ME2EHENEE (B) & & (A)+ (B)
* & H 13,326,000 316,949,000
K 2 ET 12,236,000 291,004,000
R R AT 7,317,000 174,024,000
=t 32,879,000 781,977,000




